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DEPARTMENTAL Accounts EXAMINATION
FOR MINISTERIAL £81T,
PAPER- | (WORKS Accounts)

Attempt All the

oy Questions and part of questions must be attempted at one

Referen
ce of relevant Rules/Regulations must be Indicated In answers.

Mi
ssing date if any may be assumed but must be indicated In the answers.

Ql )

Q2. a)

b)

8)

)

Z)

Max. Marks : 100

What are the rules regarding issue of imprest to permanent subordinates.
Initial Works Register.

Explain Account Code 77.5

Re-invitation of Tenders

RETEl W30 aoverdint § fbudme w<t 95 mEd ot fsoH 06
nieiGe 5% 77,5 < fenrfimir a3

A, .é- o

Marks : Sx4= 20

Junior Engineer authorised to write up measurement book explain to his SDO

in-charge that he is not to present himself at the time when petrol is taken
from petrol pump. Comments.

Instruction for disposal of surplus material.
If shortage of cash is detected then how would you adjust it in cash book.
n@a@ﬁﬁmi&ﬁmnﬁm@@um»@nﬁféﬂwg?

Wﬁﬁnnﬁﬁzﬁaf&wwfwrﬁ@a@nnﬁﬁzﬁaﬁu%
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T3l |

Marks ;: 6+8+6 =20
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a) Write down the Difference between Single Tender and Limited Tender.
b) Can the Head of Department may re-delegate his financlal powers if yes how.

8 filos 259 n3 feufes. e nise fsd
w) ot femm e M et R ureet § @urer Ay Aaet 3, Aag o 3F

fa
Marks : 10+10= 20
Define the followings :
(i) Contingencies
(i) Intermediate Payment
(iii) Outturn

(iv) Supervision charges

o fefemr & ufgs fod
() dSHEHA
(ii) ECE USRI ELS
(i) ~»rEcIa
(iv) KEIEESRECC]
Marks : 5x4=20
a) What is the procedure for accounting of transactions related to Deposit
Works ?
b) Mention Account Head Name of the followings :
(i) 10.103
(i) 10.222
(iii)  24.110
(iv) 27.101
(v) 61.101

8 foime i 5 AEOS BT S T - € off yfafont I |
w) 6 fofimr @ nerge 95 T e fad

()  10.103
(ii) 10.222
(i) 24.110
(iv) 27.101
(v)  61.101

Marks : 10+10= 20
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UDC GENERAL DEPARTMENTAL ACCOUNTS EXAM
Session: 06/2022

| PAPER-2 (Service Rules & Regulations)
Time Allowed:3 Hours ‘Max. Marks: 100

Note: a) Attempt all questions and part of a question must be attempted
continuously at one place.

b) Rough work must be done on the space provided for in the answer sheet
at page No.2.

c) Missing data, if any, may be assumed but must be indicated in respective
answer.

d) Support your answer with relevant rules/regulations

Q.No.1
a) Explain “Honorarium” and “Fee”. Write the services for which the employee can

retain the total amount of “Fee” received by him.

) “Honorarium” "3 “Fee” § Explain 137 7= | The services fat & AT “ Fee”
il aama—mﬁm“r retain &9 AT I, IY TN AT

b) Explairﬁii\“Paternity Leave”. An employee joined service on 12-01-2021, on birth of
his child on 05-06-2021, he applied to avail “Paternity Leave”. What quantum of
leave will be entitled to the employee.

o) “Paternity Leave” & Explain of3r m¥| swHordt 3 fudt 12-01-2021 8
service Join ST M2 B8R ¥ ¥9 € "o fHt 05-06-2021 3 @A & “Patemity
Leave” apply o311 Effmr 7< fa €7 dtet Leave fHaar gs<t T

¢) What is “Quarantine Leave”? Explain in detail.

¥) “Quarantine Leave” § S9< AfJ3 Explain o137 A< | ?

Marks:(7+6+7=20)
Q.No.2 |

a) Explain the process to be followed in case of Disciplinary cases to be deait
with “Com mon proceedings”.

8) “Common proceedings” ¥ Disciplinary cases & deal TT& T process &
Explain a13T A< |

b) State the main instructions for maintenance of “Service Record” of the
" employee in PSPCL.

- Ca‘}z/(-/(,(;,—
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i) PSPCL feg &aHTdT € “Service Record” &t maintenance M’ JeTfEsT
i TE1 .

C) State the services which are not Qualify for pension of an employee.. .
¥) “I9HTST B Services faT § pension TET Qualify &t of3T AeT
=T A |
Marks:(5+10+5=20)

Q.No.3

a) Which cases are covered under false TA claims? what is the punishment in
such cases?

8) faa3- food HHS TEl G2 a@H witts U os| feat aFr feg fa Amr
fHeat 3

b) An PSPCL employee claim TA on transfer from one station to another. One
of his family member shifted to the employee’s new posting station 15 days
prior to his transfer and other family member shifted after 7 months of his
transfer. Comment on it in view of PSPCL instructions regarding transfer TA.

) € PSPCL FIHTET & »iUSh vt fed ACAG 3’ ©AC ACHG 3 I 3
ZTE @ o137 I ST aBH nigAg 8r w fix eHE Hud €n < mwdt
2 15 fos ufgw It 87 <t gedl @@ ACAG 3 Udy fomr ni3 gAaT Aug
Er <t gedl T 7 HOT® I TT@ €8 ACHS I UJdTT J | JaHTTO! © fER
1.8 @M 3 feust i3t A< :

c) In a TA bill claim of an employee, Accountant has restricted the local mileage

allowance to the ordinary daily allowance for departure and arrival days of
the journey. £omments on this action of Accountant.

¥) FIHTET € ZI.¥ GBH € departure and arrival fest & local mileage

aliowance ¢ BUad €& ordinary daily allowance 3 restrict &g fo3T fam
T Syag = for gaeEt 3 feust A5t a2

Marks:(5+10+5=20)
Q.No.4

a) Define the Punishment which shall not amount to a penalty under
Punishment and Appeal Regulation

CrAd - 3 —

Scanned with CamScanner



-3-
®) PSPCL ¥ Punishment and Appeal Regulation WA fag3t ART, AAT &dt
RS 9
b) Explain the instructions regarding Child Care Leave allowed to PSPCL
employees.

") PSPCLITHIST & fHsE 1@ Child Care Leave it gefesT efimr ArE |
Marks:(10+10=20)

Q.No.5 .

Work out the Pension, Family Pension, Gratuity, Commuted value of
Pension, Leave encashment payable to the employee at the time of Retirement as
per following particulars:

Date of Birth: 16-11-1964

Date of Joining of Service: 29-01-1986

Basic Pay as on 31-12-2021 : 117900 (Revised pay)

Date of annual increment: 1-1-2022

Earned Leave at credit on 01-01-2021: 400 days

Earned leave availed: i) 15-06-2021 to 29-07-2021 ii) 15-11-2021 to 25-01-2022
DA —As applicable from time to time.

Q.No.5

J6 €97 <9< MGHT Pension, Family Pension, Gratuity, Commuted value of
Pension, Leave encashment FIHTST & Retirement 3 fHoe et I, TAt e |

Date of Birth 16-11-1964
Date of Joining of Service: 29-01-1986
Basic Pay as on 31-12-2021 : 117900 (Revised pay)
Date of annual increment: 1-1-2022
Earned Leave at credit on 01-01-2021: 400 days
Earned leave availed: i) 15-06-2021 to 29-07-2021 ii) 15-11-2021 to 25-01-2022
DA —As applicable from time to time. |
Marks: =20)
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PUNJAB STATE POWER CORPORATION
UDC General Departmental Accounts Examination
Session: 06/2022
Paper: 3
Acts and Labour Laws

Time Allowed: 3 hours Maximum Marks: 100

NOTE:-

1. Attempt all the questions and all parts of a question must be attempted
continuously at one place . .
2. Rough work should be done on the space provided in Page-2 of the answer
sheet.
* 3. In case of missing data, if any assumption has been made then it should be
mentioned in the answer itself.
4. Answers should be supported with the relevant Rules & Regulations.
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PAPER-III (ACTS & LABOUR LAWS)

Q.1 a) What are the important provisions regarding health of workers as
per Factory Act 1948 ?

yss. 1.8) 29 Miae 1948 nigATg it € 5o Tz redt &t fatH 957
Marks 15

Q.1 b) In which cases Employer is not liable to pay compensation for
personal injury caused to an employee by accident arising out of
and in the course of employment?

yrs 1 ) faa3 niffd vd Is, fiat 9 fEnefes wied ¥ 393% dd6 BEl

Baret IY
Marks 5
Q.2 a) What is the amount of compensation as per The Employecs

Compensation Act, 1923, in case of the following:-

I. Compensation for death
II. Compensation for permanent total disablement

yrs 2 ©) The Employees Compensation Act, 1923 "MaH'T, e Tt 99H Io
forint Afgshor o' faat det 97 :
. H3 B yoreT
ii. FEE IS MUTa3T SET e

5 X 2=10 Marks
Q.2D) Define the following as per The Employees Compensation Act, 1923
[. Disablement
II. Occupational diseases

yHs 2 »)  The Employees Compensation Act,1923 ngAG J& f&ftmit €1 ufggar
feg:-

i, Myrad3T (Disablement)
ii., fa'ST 4t dar (Occupational diseases)
5 X 2=10 Marks
Ques 3 a) Define the following as per the Employeces Provident Fund Act.

i. Once the act applies it continucs to be applicable

ii. Excluded employee :
iii. Superannuation
iv. Contributions

yR& 3 8)  The Employees Provident Fund Act maAd 36 fafum €t ufegmr o8
I. Once the act applics it continues to be applicable
II. Excluded employee
III. Superannuation

IV. Contributions
4 X 2.5 =10 Marks
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Ques 3. b) Define the following as per Air Act (Prevention & Control of
Pollution):-
1. Air polhitant
1II.  Air pollution
11l. Control Equipment
IV. Emission

WHE 3 %) Air Act (Prevention & Control of Pollution) J& fafunt € ufagir fef?:

i.  Air pollutant

ii.  Air pollution
iii. Control Equipment
iv. Emission

2.5 X 4=10 Marks

Ques 4 a)  Write short notes on the following under RTI Act:-
i.  Time Limit to provide information
ii. Quantum of Fee

UyES 4 B8)  RTI Act nigA9 3o ffimit 3 &2 fe8:-

i, wrgdhnrel. Mige wits BYaT IF E ot AHT AT 31
i, SR T H=9 |
5 X 2=10 Marks
Ques 4 b) Define the following as per The Consumer Protection Act, 1986.
- i. Complaint
ii. Complainant

YHG 4 »1)  The Consumer Protection Act, 1986 nigH™d Js fefemit 3 &2 o8-

i. frerfes
ii. fHorfes 93T

5X 2=10 Marks

Q.5 Write short notes on the following as per The Electricity Act 2003
I. Distribution licensee :
. II. Sub-Station
’ ' III.  Wheeling
IV. Stand Alone System

YA 5. The Electricity Act 2003 nigA™S J5 fSftmit 3 a2 fef:

i.  Distribution licensee
ii. Sub-Station
ili. Wheeling
iv.  Stand Alone System
5 X 4=20 Marks
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Q.1 Do as directed:

A) Make a précis of the following
appropriate title:

passage in about 4/3¢ words and give an

{13+2}

“Nelson, as a child, was not of a strong body. Yet he gave proof of that resolute
heart and nobleness of mind which during the whole of his glorious career s0
eminently distinguished him. One day he strayed from his grandmother's house in
the company of a cowboy. The dinner hour passed; he was absent and could not
be found. The alarm of the family became very great, for they feared that he might
have been carried off by the gypsies. ,

At length after a long search, he was discovered sitting composedly by the side of
a brook which he could not get over. ‘1 wonder, child,” said the old lady, when she
saw him, “That hunger and fear did not drive you home”, Fear! grandmamma,"
replied the future hero,” | never saw fear; what is it?”

(137 words)
B) Give the meaning of the following words: {1x5="5}
i) Resolute
iM) Glorious
iii) Strayed
iv) Cowboy
V) Brook
.1 faoen WEHT &

@)ﬁsfwﬁ@uﬁﬁﬁaaﬁam/maé*féamua@@n@ﬁa@ﬁamfe@:

{13+2}
«Nelson, as a child, was not of a strong body. Yet he gave proof of that resolute
heart and nobleness of mind which during the whole of his glorious career so
eminently distinguished him. One day he strayed from his grandmother's house in

the company of a cowboy. The dinner hour passed; he was absent and could not

PO
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be found. The alarm of the family became very great, for they feared that he might

have been carried off by the gypsies.

h after a long search, he was discovered sitting composedly by the side of

At lengt
a brook which he could not get over. “| wonder, child,” said the old lady, when she

saw him, “That hunger and fear did not drive you home”, Fearl grandmamma,”

replied the future hero,” | never saw fear; what is it? ” (137 HE%)
) 35 foi HEer 2 H3BY TH: {1x 5 = 5}
i) Resolute ‘
ii) Glorious
iii) Strayed
iv) Cowboy
V) Brook
{10 + 10}

Q.2 Answer the following questions:
a) In compliance to instructions of GoP, prepare a letter from CMD, PSPCL to all

HODs mandating all employees to take booster dose of Vaccine within the next 15

days or else face disciplinary action.
b) Prepare a NIT for publication of e-tender notice in famous national newspapers

for engagement of contractor for digitization of official record of PSPCL. Last date
and time for download of specification is till last date and time of submission of
tender i.e. 10.06.22 11:00 AM, and date & time of opening of tender is 10.06.22
11:30 AM. The tentative cost of tender is Rs. 2.5 Cr. and work is to be charged to

revenue head of accounts.

y.2 35 fed ymst @ €39 fed: {10 + 10}
8) e HwT Shoft geest @ e 33, MoAMET,, UG = Ay A
B Y gooat § wad 15 foot 725 gAeT 37 sawle @ g At a9e et
Uz fod far fe's ferm AuRe a9 fa 37 & a8z & gos &9 gonewt 3 fegmt
et it R i
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m)@mémmnmwmﬁamﬁmﬂﬁ%éﬁaﬁfwm
& fsrefesens q96 Bt 33w Iz w B-2'59 Afen yfis TG I3 39 AT
3o fonrg a3 FAAES wdltee @ wd D59 it qon @ nmadt fist o3 i
10.06.22 11:00 F.u. w3 259 yoz o HiFt »d AHt 10.06.22 11:30 Fu.1 239 &
wienlfsH S § 2.5 X399 3 013 aaw BY ot WiE et § aran ot 3T A |

Q.3 Do as directed:

A) Fill in the blanks with correct preposition: . {1x 5 = 5}

i) The figure is ..... the wall.

ii) I'll meet you ..... the door.

i) I'm ..... the car.

iv) I'm going .... John's

v) Go about 2 km ...... the Centre and then turn left.

B) Rewrite the following sentence with punctuation marks: {3+1+1=5}
i) Long ago in a distant country there lived a beautiful princess

i) Is it any use expecting them to be on time

iii) Having lost all my money | went home

C) Give meaning of the following idioms znd make sentences : {2x 5=10}
i) A white lie

ii) To work day and night

iii) Like a Kid in a candy store

iv) To run in the family

v)‘Kick the Bucket

y.3 foger gAY el
8) Adt Qi &7 U |f 39t {1x 5 = 5}
i) The figureis ..... the wall.

ii) I'll meet you ..... the door.

iii) I'm ..... the car.

-

PTo
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iv) I'm going .... John's

v) Go about 2 km ...... the Centre and then turn left.

) 5 fod et § femen it & gara fid: {3+141=85)

i) Long ago in a distant country there lived a beautiful princess

i) Is it any use expecting them to be on time
iii) Having lost all my money | went home

©) 35 T8 Ha=fonlt €7 nigg €A 3 ¥ 8! {2x 5 = 10}
i) A white lie

ii) To work day and night

iii) l_ike a Kid in a candy store

iv) To run in the family

v) Kick the Bucket

Q.4 Do as directed:

A) Convert the following:
i) (200)16 to decimal

i) (6C)16 to binary

iii) (101)s to binary

iv) (101.10)2 to decimal

v) (11)2 + (10)2 to decimal

{2x5=10}

B) Explain the following: :
{1 x5=5}

i) Run command

ii) ipconfig

iii) Command prompt
iv) Operating System
V) Taskbar
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C) Arrange in ascending order:

{1x5=5)
i) Units of data storage: Bit, Byte, Nibble
ii) Storage capacity: Hard Disk, Floppy Disk, Pen Drive !
iii) Size: Jio Mobile Handset, Mifi Dongle, Laptop
iv) Maximum Zobm percentage (mention value also): MS Word, MS Excel
V) Speed of computation: GHz, kHz, MHz
Y.4 {6980 nigAg a3 0 i
8) I fedt nigA 3ads o9: . {2x5 =10}
i) (200)16 & 3frH fow
i) (6C)16 & Tfeast g
iii) (101)8?5 Tieadt feg

iv) (101.10)2 § Sfinis i
v) (11)2 + (10)2 § 3fHs &9

) Js fou meet 9 fonrfunr 39: {1x5=5}
i) Run command o
ii) ipconfig

iii) Command prompt
iv) Operating System

V) Taskbar

£) 352 =B o 9 mard: {1 x 5 =5}
) ¥ ASIA Eif feafeat: fae, wEte, fou

i)y HSIT AHTET: 998 fsAg, condt fsrw, Uw sofee

iii) nia: fmt Harfes Jshe, Het et S, Budy
v) widsE @y (28 St fisiy: 1 WA <95, M R M
V) dEaT © ot e I9ew, 1S I9ew, Rar geew

' e
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Q.5 Do as directed

A) Solve the following: {1x5=5}
A 15 TB Hard Disk has the following usage:

a) Operating System occupies 2048 GB

b) MS Office suite occupies 256 GB

c) Database sizeis 5TB

d) Cache Memory uses 2 GB

e) Other Application Softwares installed are 3 GB in size

f) Temporary files occupy 256 MB

What is the unused capacity of the Hard Disk?

B) Give full form of fblloWing abbreviations: - {1 x5=5}

a) OS

b) NVME

c) HCI

d) Al

e) CD

C) Arrange in ascending order after converting to hexa-decimal: {10}
(1111)2, (A)1s, (2989)10, (1567)10, (100100)s

Y.5 foger nigA9 99

8 3o Tl yis § 75 o | (1x5=5) -

' 15 2ot & oas foma § 35 wigAre =g a7 f3or 3
a) WUITEar fmer Tnrrar =99t 77 9dt MHaET 2048 T
b) W WA nifeR He e @St 7 9ot AHgEr 256 gt
¢) ¥'eT ¥R w Aifew 5 st

d) aﬂﬂvﬁ?@weﬁﬂfﬁﬁ)ﬁwzﬁﬁ

Scanned with CamScanner



-9 _

e) Wléﬁﬂz'ﬁﬁ%@ﬁm&mm?mﬂHNﬁﬁ
f) %ﬁﬁ@ﬁmmeﬁwaﬁwzssm

m%ﬂaﬁwﬁﬁwaﬁwﬁﬁa?

m)aammﬁauw@gmguﬁw&: {1 x 5= 5}
i) OS

b) NVME

c) HCI

d) Al

e)CD

¥) Jarr 3fAHe &9 39tis ous 3 gw J3¢ o8 gy &9 %as: {10}

(1111)2, (A)1s, (2989)1.0, (1567)10, (100100)s
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